

CLAIM INFORMATION								
INSURED		ADJUSTER		DEDUCTIBLE				
ADDRESS		LOSS DATE		CONTENTS LIMIT				
CITY	Mosely	POLICY NUMBER						
STATE	VA	CLAIM NUMBER	IUE6370					
ZIP								

ESTIMATED LOSS CALCULATION	
REPLACEMENT COST (RCV)	\$15,167.65
SALES TAX	<u>\$0.00</u>
REPLACEMENT COST PLUS SALES TAX	\$15,167.65
less DEPRECIATION	<u>\$0.00</u>
ACTUAL CASH VALUE (ACV) PLUS TAX	\$15,167.65
less AMOUNT IN EXCESS OF LIMITS	
less DEDUCTIBLE AFTER INSURED	
CONTRIBUTION	
ESTIMATED NET PAYMENT	
less ADVANCES	
ESTIMATED NET PAYMENT less ADVANCES	

Line Description Qty Source Replacement Replacement Replacement Replacement Replacement Depreciation Value Depreciation Depreciation Value Depreciation Depreciation Depreciation Depreciation Value Depreciation Depreciation Replacement Depreciation Depreciation Value Depreciation Depreciatio	rerable ciation ing tax) Replacement Receipt Amt Tax	
Line Description Qty Source Age Replacement (Y) Cost Per Item Cost Rate Cost Including aition Amount Including Tax (including to the control of the cost of the cost Including to the cost Including Tax (including to the cost Including Tax (including to the cost Including Tax (including Tax (including to the cost Including Tax (including Tax (includin	ciation Receipt Amt	Depreciation Released +
1 Toys, MISC. 1 \$50.00 \$50.00 \$50.00 \$50.00	\$0.00 \$0.0	
2 Flat screen TV, Sony Bravia, 65" 1 https://www.sony.com.ph/electronics/tele \$2,552.90 \$2,552.90 \$0.00 \$2,552.90	\$0.00	
3 Receiver, Onkyo 1 https://www.onkyousa.com/product/tx-nrt \$799.00 \$799.00 \$0.00 \$799.00	\$0.00 \$0.0	
4 Assorted alcholic beverages, 50 ml 5 \$2.98 \$14.90 \$14.90 \$0.00 \$14.90	\$0.00 \$0.0	
5 Baby bottles, MISC 1 \$45.00 \$45.00 \$0.00 \$45.00	\$0.00 \$0.0	
6 Baby gate 2 https://www.walmart.com/ip/Regalo-Hom \$105.99 \$211.98 \$0.00 \$211.98	\$0.00 \$0.0	· ·
7 Baby training toilet 1 https://www.walmart.com/ip/Kids-Baby-T \$49.43 \$49.43 \$49.43 \$0.00 \$49.43	\$0.00 \$0.0	
8 Rum, Bacardi Superior, 375 ml 1 https://www.marketviewliquor.com/produ \$7.49 \$7.49 \$0.00 \$7.49	\$0.00 \$0.0	_
9 Single bed 1 \$182.00 \$182.00 \$182.00 \$0.00 \$182.00	\$0.00 \$0.0	
10 Vacuum cleaner, Bissell, Little Green Model No 1400B 1 https://www.bissell.com/little-green-porta 123.59 \$123.59 \$123.59 \$0.00 \$123.59	\$0.00 \$0.0	
11 Blu ray DVD player, Samsung 1 \$399.99 \$399.99 \$399.99 \$0.00 \$399.99	\$0.00 \$0.0	
12 Gin, Bombay Sapphire, 750 ml 1 https://www.walmart.com/ip/Bombay-Sap \$19.48 \$19.48 \$0.00 \$19.48	\$0.00 \$0.0	
13 Books, MISC 1 \$50.00 \$50.00 \$50.00 \$0.00 \$50.00	\$0.00 \$0.0	
14 Whiskey, Buffalo Trace1 https://woodencork.com/products/buffalo \$49.99\$49.99\$0.00\$49.99	\$0.00 \$0.0	
15 Canned goods, MISC 8 \$1.30 \$10.40 \$10.40 \$0.00 \$10.40	\$0.00 \$0.0	
16 Cereals, MISC 6 \$3.28 \$19.68 \$19.68 \$0.00 \$19.68	\$0.00 \$0.0	
17 Chair, IKEA 2 https://www.ikea.com/us/en/p/poaeng-arr \$99.00 \$198.00 \$198.00 \$0.00 \$198.00	\$0.00 \$0.0	
18 Chair cover 1 \$15.00 \$15.00 \$15.00 \$0.00 \$15.00	\$0.00 \$0.0	· ·
19 Easel chalkboard 1 https://www.walmart.com/ip/Crayola-Cree \$44.88 \$44.88 \$0.00 \$44.88	\$0.00 \$0.0	
20 Champagne, Andre 1 https://thebestwinestore.com/products/ar \$6.99 \$6.99 \$0.00 \$6.99	\$0.00 \$0.0	90.00
21 Sparkling cider, Martinelli's Gold Medal 1 https://www.walmart.com/ip/Martinelli-s-(\$3.46 \$3.46 \$3.46 \$0.00 \$3.46	\$0.00	90.00
22 Ground beef patties 1 \$7.20 \$7.20 \$7.20 \$0.00 \$7.20	\$0.00	90.00
23 Chicken thighs 1 \$7.41 \$7.41 \$7.41 \$0.00 \$7.41	\$0.00	\$0.00
24 Circular rug, Brixton 1 https://www.iamfy.co/product/brixton-con \$499.99 \$499.99 \$499.99 \$0.00 \$499.99	\$0.00 \$0.0	90.00
25 Assorted medicine, Zantac & Claritin 1 \$15.00 \$15.00 \$15.00 \$0.00 \$15.00	\$0.00 \$0.0	\$0.00
26 Round clock, yellow 1 \$39.98 \$39.98 \$39.98 \$0.00 \$39.98	\$0.00 \$0.0	90.00
27 Soap dispender 1 https://www.walmart.com/ip/Better-Home \$12.97 \$12.97 \$0.00 \$12.97	\$0.00 \$0.0	90.00
28 Electric kettle 2 \$18.99 \$37.98 \$37.98 \$0.00 \$37.98	\$0.00 \$0.0	90.00
29 Whipped cream, Friendly Farms 1 \$3.98 \$3.98 \$3.98 \$0.00 \$3.98	\$0.00 \$0.0	00 \$0.00
30 Tamari soy sauce, San J 2 https://www.walmart.com/ip/2-Pack-San- \$3.28 \$6.56 \$0.00 \$6.56	\$0.00 \$0.0	00 \$0.00
31 Condiments, assorted 4 \$3.28 \$13.12 \$13.12 \$0.00 \$13.12	\$0.00 \$0.0	00 \$0.00
32 Maple syrup 1 \$7.98 \$7.98 \$7.98 \$0.00 \$7.98	\$0.00 \$0.0	00 \$0.00
33 Broth \$2.42 \$2.42 \$0.00 \$2.42	\$0.00 \$0.0	
34 Sesame oil, Kikkoman 1 https://www.walmart.com/ip/Kikkoman-Se \$3.17 \$3.17 \$3.17 \$0.00 \$3.17	\$0.00 \$0.0	00 \$0.00
35 Dijon mustard 1 https://www.walmart.com/ip/Great-Value- \$0.92 \$0.92 \$0.92 \$0.00 \$0.92	\$0.00 \$0.0	
36 Chocolate syrup, Berryhill 1 \$1.98 \$1.98 \$1.98 \$0.00 \$1.98	\$0.00 \$0.0	00 \$0.00
37 Worcestershire sauce 1 \$1.00 \$1.00 \$0.00 \$1.00	\$0.00 \$0.0	
38 Horseradish, Bookbinders 1 https://specsonline.com/shop/foods/salsa \$3.78 \$3.78 \$3.78 \$0.00 \$3.78	\$0.00 \$0.0	
39 Spicy brown mustard 1 \$0.92 \$0.92 \$0.92 \$0.00 \$0.92	\$0.00 \$0.0	
40 Italian dressing, Olive Garden 1 https://www.walmart.com/ip/Olive-Garder \$3.78 \$3.78 \$0.00 \$3.78	\$0.00 \$0.0	

41 Hot sauce	1	\$3.13	\$3.13	\$3.13	\$0.00	\$3.13	\$0.00	\$0.00	\$0.00
42 Tomato ketchup	1	\$4.28	\$4.28	\$4.28	\$0.00	\$4.28	\$0.00	\$0.00	\$0.00
43 Ranch dressing	1	\$2.52	\$2.52	\$2.52	\$0.00	\$2.52	\$0.00	\$0.00	\$0.00
44 Office chair	1	\$59.98	\$59.98	\$59.98	\$0.00	\$59.98	\$0.00	\$0.00	\$0.00
45 Rattan/wicker baskets and storage bins, assorted	1	\$27.99	\$27.99	\$27.99	\$0.00	\$27.99	\$0.00	\$0.00	\$0.00
46 Water bottles, MISC.	1	\$70.00	\$70.00	\$70.00	\$0.00	\$70.00	\$0.00	\$0.00	\$0.00
47 Raspberry leaf tea bags, Organic	1	\$3.00	\$3.00	\$3.00	\$0.00	\$3.00	\$0.00	\$0.00	\$0.00
48 Supplements, Flintstones, 60 ct	1 https://www.walmart.com/ip/Flintstones-0	·	\$9.29	\$9.29	\$0.00	\$9.29	\$0.00	\$0.00	\$0.00
49 Cookie cutter, puzzle piece	1	\$7.62	\$7.62	\$7.62	\$0.00	\$7.62	\$0.00	\$0.00	\$0.00
50 Diaper genie, Playtex Baby, 270 ct	1 https://www.walmart.com/ip/Playtex-Bab	· ·	\$12.50	\$12.50	\$0.00	\$12.50	\$0.00	\$0.00	\$0.00
51 Assorted diapers and wipes	1	\$20.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
52 Diapers, Huggies Little Movers, size 4, 7- ct	1 https://www.walmart.com/ip/Huggies-Litt	·	\$24.27	\$24.27	\$0.00	\$24.27	\$0.00	\$0.00	\$0.00
53 Wipes, Huggies Simply Clean, unscented, 11 packs, 704	1 https://www.walmart.com/ip/Huggies-Sin	\$15.27	\$15.27	\$15.27	\$0.00	\$15.27	\$0.00	\$0.00	\$0.00
54 Toy dinosaur	1	\$16.97	\$16.97	\$16.97	\$0.00	\$16.97	\$0.00	\$0.00	\$0.00
55 Toy dinosaur, assorted	1 https://www.walmart.com/ip/Dinosaurs-A		\$3.68	\$3.68	\$0.00	\$3.68	\$0.00	\$0.00	\$0.00
56 Eggs, 12 ct	4	\$2.89	\$11.56	\$11.56	\$0.00	\$11.56	\$0.00	\$0.00	\$0.00
57 Desk fan	1 https://www.walmart.com/ip/Honeywell-A		\$16.96	\$16.96	\$0.00	\$16.96	\$0.00	\$0.00	\$0.00
58 Fertility support packets, MISC	1 https://www.target.com/p/premama-fertili	\$34.99	\$34.99	\$34.99	\$0.00	\$34.99	\$0.00	\$0.00	\$0.00
59 Food, MISC	3	\$30.00	\$90.00	\$90.00	\$0.00	\$90.00	\$0.00	\$0.00	\$0.00
60 Freezer food, MISC	5	\$40.00	\$200.00	\$200.00	\$0.00	\$200.00	\$0.00	\$0.00	\$0.00
61 Baby wipes	1	\$2.17	\$2.17	\$2.17	\$0.00	\$2.17	\$0.00	\$0.00	\$0.00
62 Gauze pads, Band-Aid	2 https://www.walmart.com/ip/Band-Aid-Br		\$13.20	\$13.20	\$0.00	\$13.20	\$0.00	\$0.00	\$0.00
63 Petroleum jelly, Vaseline	1 https://www.walmart.com/ip/Vaseline-10		\$7.63	\$7.63	\$0.00	\$7.63	\$0.00	\$0.00	\$0.00
64 Glass jar vase, assorted	3	\$5.99	\$17.97	\$17.97	\$0.00	\$17.97	\$0.00	\$0.00	\$0.00
65 High chair, Graco	1 https://www.gracobaby.com/home-and-g	· ·	\$139.99	\$139.99	\$0.00	\$139.99	\$0.00	\$0.00	\$0.00
66 Flat screen TV, Hisense Roku	1	\$338.00	\$338.00	\$338.00	\$0.00	\$338.00	\$0.00	\$0.00	\$0.00
67 Ice cream, assorted	3 https://www.walmart.com/ip/Breyers-Cla		\$11.94	\$11.94	\$0.00	\$11.94	\$0.00	\$0.00	\$0.00
68 Silicone mold, stars	2	\$5.49	\$10.98	\$10.98	\$0.00	\$10.98	\$0.00	\$0.00	\$0.00
69 Silicone mold, donuts	1	\$5.49	\$5.49	\$5.49	\$0.00	\$5.49	\$0.00	\$0.00	\$0.00
70 Cabinet, IKEA	1 https://www.ikea.com/us/en/p/brimnes-w	\$199.99	\$199.99	\$199.99	\$0.00	\$199.99	\$0.00	\$0.00	\$0.00
71 Chair, IKEA	1	\$99.00	\$99.00	\$99.00	\$0.00	\$99.00	\$0.00	\$0.00	\$0.00
72 Desk, IKEA	1 https://www.ikea.com/us/en/p/micke-corr	\$189.00	\$189.00	\$189.00	\$0.00	\$189.00	\$0.00	\$0.00	\$0.00
73 Lamp, IKEA	1	\$54.99	\$54.99	\$54.99	\$0.00	\$54.99	\$0.00	\$0.00	\$0.00
74 Juice, assorted	2	\$20.00	\$40.00	\$40.00	\$0.00	\$40.00	\$0.00	\$0.00	\$0.00
75 Drawer items, MISC	1	\$20.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
76 Coffee liqueur, Kahlua	1 https://www.walmart.com/ip/Kahlua-Coff	\$21.98		\$21.98	\$0.00	\$21.98	\$0.00	\$0.00	\$0.00
77 Kids arts and crafts	1	\$20.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
78 Kids books	1	\$50.00	\$50.00	\$50.00	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00
79 Kids chair	1 https://www.walmart.com/ip/Play-Day-Ad	\$6.88	\$6.88	\$6.88	\$0.00	\$6.88	\$0.00	\$0.00	\$0.00
80 Kids tent	1 https://www.walmart.com/ip/Folding-Play	\$47.86	\$47.86	\$47.86	\$0.00	\$47.86	\$0.00	\$0.00	\$0.00
81 Kids table and chair	1	\$15.00		\$15.00	\$0.00	\$15.00	\$0.00	\$0.00	\$0.00
82 Mattress, icomfort EFX, king	1 https://www.serta.com/mattresses/icomf	\$1,499.00	\$1,499.00	\$1,499.00	\$0.00	\$1,499.00	\$0.00	\$0.00	\$0.00
83 Lamp, with shade	2	\$49.99	\$99.98	\$99.98	\$0.00	\$99.98	\$0.00	\$0.00	\$0.00
84 Blocks	1	\$20.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
85 Lounge chair, blue, fabric	1 https://www.ikea.com/us/en/p/strandmor	\$269.00	\$269.00	\$269.00	\$0.00	\$269.00	\$0.00	\$0.00	\$0.00
86 Toys, MISC	6	\$25.00	\$150.00	\$150.00	\$0.00	\$150.00	\$0.00	\$0.00	\$0.00
87 Milk	2	\$3.27	\$6.54	\$6.54	\$0.00	\$6.54	\$0.00	\$0.00	\$0.00
88 Mixer, KitchenAid, mint green	1 https://www.walmart.com/ip/KitchenAid-F	\$259.99	\$259.99	\$259.99	\$0.00	\$259.99	\$0.00	\$0.00	\$0.00
89 Mixing bowls and tupperware	2	\$10.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
90 Ottoman, MISC, fabric	1 https://www.walmart.com/ip/Joveco-Fabr	\$84.99		\$84.99	\$0.00	\$84.99	\$0.00	\$0.00	\$0.00
91 Ride on toy, Paw Patrol	1	\$79.00	\$79.00	\$79.00	\$0.00	\$79.00	\$0.00	\$0.00	\$0.00

92 Plastic bowls and wooden bowl, MISC		\$30.00	\$30.00	\$30.00	\$0.00	\$30.00	\$0.00	\$0.00	\$0.00
93 Plastic cups and water bottles, MISC	1	\$20.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
94 Plastic measuring utensils, MISC	1	\$20.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
95 Plasticware, MISC	2	\$10.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
96 Pots	1	\$44.99	\$44.99	\$44.99	\$0.00	\$44.99	\$0.00	\$0.00	\$0.00
97 Projector, Optoma	1 https://www.walmart.com/ip/Optoma-H19		\$479.00	\$479.00	\$0.00	\$479.00	\$0.00	\$0.00	\$0.00
98 Bike, Radio Flyer	1 https://www.target.com/p/radio-flyer-kids	\$44.99	\$44.99	\$44.99	\$0.00	\$44.99	\$0.00	\$0.00	\$0.00
99 Remote	5	\$11.99	\$59.95	\$59.95	\$0.00	\$59.95	\$0.00	\$0.00	\$0.00
100 Rocking horse	1 https://www.walmart.com/ip/Qaba-Kids-N	\$110.99	\$110.99	\$110.99	\$0.00	\$110.99	\$0.00	\$0.00	\$0.00
101 Scale	2	\$9.98	\$19.96	\$19.96	\$0.00	\$19.96	\$0.00	\$0.00	\$0.00
102 Scratch post	1 https://www.walmart.com/ip/Cat-Scratchi	\$39.99	\$39.99	\$39.99	\$0.00	\$39.99	\$0.00	\$0.00	\$0.00
103 Sectional sofa	1 https://www.wayfair.com/furniture/pdp/gr	\$1,739.99	\$1,739.99	\$1,739.99	\$0.00	\$1,739.99	\$0.00	\$0.00	\$0.00
104 Vacuum, Shark	1 https://www.walmart.com/ip/Shark-Navig	\$209.00	\$209.00	\$209.00	\$0.00	\$209.00	\$0.00	\$0.00	\$0.00
105 Shelf, white	1 https://www.walmart.com/ip/12-Cubes-O	\$162.99	\$162.99	\$162.99	\$0.00	\$162.99	\$0.00	\$0.00	\$0.00
106 Slug, ride on	1 https://www.target.com/p/b-toys-snail-ride		\$25.99	\$25.99	\$0.00	\$25.99	\$0.00	\$0.00	\$0.00
107 Shower curtain and shower linen	1	\$36.00	\$36.00	\$36.00	\$0.00	\$36.00	\$0.00	\$0.00	\$0.00
108 Snap lock egg container	1	\$41.69	\$41.69	\$41.69	\$0.00	\$41.69	\$0.00	\$0.00	\$0.00
109 Southern Accents, chocolate pecan pie liqueur	1 https://creekvillespirits.com/products/sou		\$15.59	\$15.59	\$0.00	\$15.59	\$0.00	\$0.00	\$0.00
110 Spices, MISC	5	\$10.00	\$50.00	\$50.00	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00
111 Floating box shelf	1	\$29.99	\$29.99	\$29.99	\$0.00	\$29.99	\$0.00	\$0.00	\$0.00
112 Stove mittens	1	\$20.00	\$20.00	\$20.00	\$0.00	\$20.00	\$0.00	\$0.00	\$0.00
113 Toaster, Sun Beam	2 https://www.sunbeam.com.au/kitchen-an		\$84.92	\$84.92	\$0.00	\$84.92	\$0.00	\$0.00	\$0.00
114 Round coffee table, MISC	1	\$192.05	\$192.05	\$192.05	\$0.00	\$192.05	\$0.00	\$0.00	\$0.00
115 Round table, MISC, glass top	1	\$59.87	\$59.87	\$59.87	\$0.00	\$59.87	\$0.00	\$0.00	\$0.00
116 Toothbrush, MISC	1	\$10.00	\$10.00	\$10.00	\$0.00	\$10.00	\$0.00	\$0.00	\$0.00
117 Kitchen glassware and misc	1	\$50.00	\$50.00	\$50.00	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00
118 Toy bed, MISC. wood	1 https://www.walmart.com/ip/MyBeauty-1-	·	\$35.98	\$35.98	\$0.00	\$35.98	\$0.00	\$0.00	\$0.00
119 Toy dirt	1	\$5.00	\$5.00	\$5.00	\$0.00	\$5.00	\$0.00	\$0.00	\$0.00
120 Toy grill	1 https://www.walmart.com/ip/Step2-Sizzle		\$84.99	\$84.99	\$0.00	\$84.99	\$0.00	\$0.00	\$0.00
121 Toy kitchen	2	\$130.00	\$260.00	\$260.00	\$0.00	\$260.00	\$0.00	\$0.00	\$0.00
122 Toys, MISC	11	\$30.00	\$330.00	\$330.00	\$0.00	\$330.00	\$0.00	\$0.00	\$0.00
123 Tupperware, MISC	3	\$5.46	\$16.38	\$16.38	\$0.00	\$16.38	\$0.00	\$0.00	\$0.00
124 Twin bed	1 https://www.ikea.com/us/en/p/hauga-uph	\$249.00	\$249.00	\$249.00	\$0.00	\$249.00	\$0.00	\$0.00	\$0.00
125 Vinegar	7	\$1.94	\$13.58	\$13.58	\$0.00	\$13.58	\$0.00	\$0.00	\$0.00
126 Vitamins, MISC	3	\$14.98	\$44.94	\$44.94	\$0.00	\$44.94	\$0.00	\$0.00	\$0.00
127 Wallet	1 https://www.walmart.com/ip/Slim-Bifold-V			\$39.99	\$0.00	\$39.99	\$0.00	\$0.00	\$0.00
128 Water, 24 ct	1	\$11.00	\$11.00	\$11.00	\$0.00	\$11.00	\$0.00	\$0.00	\$0.00
129 Water bottles and insulated bottles, MISC	1	\$50.00	\$50.00	\$50.00	\$0.00	\$50.00	\$0.00	\$0.00	\$0.00
130 Water filter pitcher	1	\$29.99	\$29.99	\$29.99	\$0.00	\$29.99	\$0.00	\$0.00	\$0.00
131 Wicker bookshelf, MISC	1	\$349.99	\$349.99	\$349.99	\$0.00	\$349.99	\$0.00	\$0.00	\$0.00
132 Wires	1 https://www.vyoles.ed.eo.clip.NA/ec.des.Dec	\$19.99	\$19.99	\$19.99	\$0.00	\$19.99	\$0.00	\$0.00	\$0.00
133 Wooden bowl and spoon	1 https://www.walmart.com/ip/Wooden-Bo	\$49.99	\$49.99	\$49.99	\$0.00	\$49.99	\$0.00	\$0.00	\$0.00
			\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			\$15,167.65	\$15,167.65	\$0.00	\$15,167.65	\$0.00	\$0.00	\$0.00